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Question Boolklet Series - A

Questions:
60 Questions to be filled

1. TF TTaT FPT e d AR TS 1 @7 URAY R 1 ) U G o g s SR Iuat
TS ST Y @, ST Uk g

The resistance of a conductor of diameter d and length I is R €. If the diameter of the conductor is
halved and its length is doubled, the resistance will be
(A) RQ
(B) 2RQ
(C) 4RQ
(D) 8RQ

2. d Traw O iRy o1 oie 7
A semiconductor has terriperature coefficient of resistance.
(A) UPRIHD / Positive
(B) YA/ Zero
(C) BUTHSD /Negative
(D) - SR H15 H &l /None of the above

3. ﬁﬁﬂﬂﬁm%ﬁmm&%@mﬁmq{émaﬁ%n

On the basis of dimensional equation, the maximum number of unknown that can be found, is -
(A} TP /one

(B) al/wo

(C) T /three

(D) =R ffour

4, C WU Hafa o umr %! GRS P O °
C Programs are converted into machine language with the help of
(A) TSR/ An Editor
(B) ISR /A compiler
(C) TP SHORIET Homel /An operating system
(D) 278 ®is U 981 /None of these.

5. UeSHRT Sui emgfd & $99e vt diear sear §, < eigeye dieedr
In an unregulated power supply, if input a.c. voltage increases, the output voltage
(A) wedre/ Increases
(B) YA / Decreases
(C) JETEII@ATE/ Remains the same
(D) SRad BE o T8/ None of the above

6. fradifveicyde o ufde feq iy ?
Which of these sets of logic gates are designated as universal gates?
(A) NOR, NAND. '
(B) XOR, NOR, NAND.
(C) OR,NOT, AND.
(D) NOR, NAND, XNOR.
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10.

11.

12.

13.

Question Booklef Series - A

SUIE HAR &1 Ry I g

The frequency range for satellite communication is
(A) 1kHz-100kHz

(B) 100kHz-1MHz

(C) 10MHz-30 MHz

(D) 1GHz-30GHz

RIIRC R DI R fafY 1 3l fomar Srar 21
The CRO uses Method of focusing

(A) Electronic

(B) Electromagnetic

(C) Electrostatic

(D) Electromechanical

eA fRdse 8051 #, Ao foraa Wifge simst fiey TI 9k RI o1 s anar

In 8051 microcontroller, the register that holds the serial data interrupt bits TT and RI is
(A) SMOD

(B) SCON

(Cy PCON

(D) IE

T & B W ey ois g 82

Which of the following is not a binary code?

(A). TR/ Morse

(B) UTIRF/ARQ

(C) WIS /Baudot |
D) wheedd -2/ CCITT2 B

A e Jig wvt or s & Ty Wi foie 9 9e 2

In each node is connected to every other node by direct links.
(A) Tt/ Ring topology

(B) ¢ atﬁ?ﬂﬁﬁ { Tree topology

(C) TSt /Mesh topology

(D) WREMEST/ Star topology

R R R ey et R

If frames are displayed on screen fast enough, we get an impression of

(A) R/ Signals

(B) HRAY/ Motions
(C) THTH /Packets

(D) foey/ Bits
frafafed & 3 ue civeR @) 9gd o1e) Yy R |rae 7 Sudhr far s 2|

One of the following transducers is used for very small linear displacement measurements
(A) wadrEid/LvDT
(B) TR IS/ Pirani gauge

(C) Y9 / Thermocouple

(D) Y §THrSR /Shaft encoder
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14.

I5.

16.

17.

18.

19.
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WP T & 3M3CYE TR U@ BIeT gd Freftid B gl
A small circle on the output of a logic gate is used to represent the:
(A) Comparator operation.

(B} OR operation.

(C) NOT operation.

(D) AND operation.

ek HET) gl

A fetch cycle is the

' (A)  SJGY UTSidvd BT UYH WAT/ First part of the instruction cycle

(B) SIS Wrglchel BI3{fcr# YT / Last part of the instruction cycle

) &Eﬁﬂ Tefdd BHE YT/ Intermediate part of the instruction cycle |
(D)  Scx WIsfdd SIYIE YT /Auxiliary part of the instruction cycle.

SR TSR T Ui HYd B

Most radar antennas use a

(A) Tggd/ Dipole ,

(B) {&%Id o &g / Broadside array

(S 3R Raed® WRad® / Horn and parabolic reflector

(D) YgW® g/ Collinear array
EARC] 3 faggd fava &1 RS =it o) 9&ar g

EEG can involve the recording of electrical potentials from
(A oo, Ak § Fia seeded g

Groups of neurons, via electrodes inserted into the brain
(B Ushd @'ﬂ/ Single neurons.
(C) —gIa T aqg, RN e gm @ sdadisd gRl

Groups of neurons, via electrodes placed on the scalp
(D) IWRIa G4 /ALl of the above

TR UAUREY & I & foe siftresiea fas mr g1
ARM processors were basically designed for

(A) TBH HH UUIEH / Main frame systems

(B) fdaia yumredt / Distributed systems

(C) TIESa YOI / Mobile systems

(D) YR PR/ Super computers

e 8 Doy dreean Fftg PR g
The voltage induced in an inductor is represented as,
(A) TRl 3R BT YRT I UG

Product of its inductance and current through it.

(B) Ok IR IS URT S weard X BT U

Product of its inductance and rate of change of current through it.

(C) WREaT AP YR Pl gad
Ratio of its inductance to current through it.
(D) IYD! YRT W TRl BT ST

Ratio of current through it to its inductance.
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e,

20.

21,

22.

23.

24,

25.

26.
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TF 37 S pn Y SRS &1 UfeRly 59 @ife A grar gl

A forward biased pn junction diode has a resistance of the order of

(A) O (
(B) kO
©) MQ

(D) SURIGd @IS 61 / None of the above

YOfarP Heid T ST §
Dimensions of relative density are

(A) FIHM/ AE3 / mass/ length™

(B) ToddM x @S/ mass x length’

(C) SIH 1% HRIH G / It has no dimensions
(D) da® / G/ length®/mass

‘CP! goIa. (9w R fear

‘C’” was primarily developed as

(A) womelt TIATFET {7 / System programming language
(B) 9T TS HET/ General purpose language

(C)  3fiPeT TR UTHT / Data processing language

D) Sudad ®TE gt / None of the above

et PR S amgfd @ § ored dreear P gl

In an ideal regulated power supply is one which has voltage regulation of
(A) 0%

(B) 5%

©) 10%

D) 1%

FraAfor e # 9 FieT AT AR U iR i e ST B e Sy gfeve 5w o 3R e

Which of the following memories uses one transistor and one capacitor as basic memory unit

(A) SRAM

(B) DRAM

(C)  Both SRAM and DRAM

(D) None

e ATET B AS & HIeT fgr St AR

Transmission line must be matched to the load to

(A) <SPl fwmaH diecal RHARA/ transfer maximum voltage to the load
(B) oS if¥ieas diecdl RIFIGRT / transfer maximum power to the load

(C) WIS YRIDIHH B/ reduce the load current

(D) IS BT AYBHTH URTRIFANT B/ transfer maximum current to the load

T YR U@ TReg®R & ol Fr Ay FwET
A Thermistor is a transducer which converts
(A) TOAEF Y FRIY® / Temperature to resistance
(B) GuEM Y aieeal/ Temperature to voltage
(C) QUHM ¥ YRT/ Temperature to current
(D) SUAEI DTS T8I/ None of these
' Page 5 of 14




27,

28.

29.

30.

31
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3B ST TuR T &1 FEd 5

Data communication refers to the transmission of
(A) 3@/ Voice _

(B) @ 3fidal/ Computer data

(C) difgdr/ Video

(D) WG D% T8l /All the above

T e e garet gy <) wrged § w1

In the case of a direct physical connection path is established between two computers.
(A) ufvgy &R/ Circuit switching

B) e FafeiT/ Packet switching

(©) o9 iy Message switching

(D) S/ Datagram

diecHieR ®f ARl 7 o g
Voltmster sensitivity is expressed in

(A) ohm /V

(B) V/ohm

(C) Ohm-V

(D) Volts

DIAC 3R $% 74l afdp gl

A DIAC is nothing else but a

(A) TRIAC fa1 ie efifae & / TRIAC without the gate terminal
(B) GTO & WM TI 1T / GTO with two gates

(C)  SCS & Y U 71T / SCS with one gate

(D) TR & 91y Te §aI9@ / Transistor with one junction

3-3799¢ OR #e & T -4 T §ge & o, A9 1 sm8eqe e w8 7
For a 3-input OR gate, with the input waveforms as shown below, which output waveform is,
correct? '

INPUT B ___J—]—___!—

INPUT C E
QUTPUT a |
OUTPUT b ﬁ

OUTPUT ¢

OUTF’%JTCI—[ !
(A) a

(B) b
) ¢
D) d
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32.

33.

34.

35.

36.

37,
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DMW%WW%WE&W& PEd el

The concept of utilizing the bus for DMA operations is known as
(A) CPUHIE/ CPU cheating

(B) urgida Wi/ Cycle stealing .
(C) CPU WA /CPU stealing
(D) WRITT Bis 781/ None of the these-

% Tlhae GRT YT 9819 gl B

The skin effect causes current to flow
(A) dRIP B PE H/ In the center of the conductor

(B) <0% & Hdg &b U/ Near the surface of the conductor _
(C) TS FUT IR F IR/ Through central core of the conductor
(D) P P URUH TUH/ Uniformly through the conductor

ARM T /g9 W 8l
The address space in ARM is
(A) 2724

B) 2°64

(C) 2M6

(D) 2732

ot o § $F 1 i ad -
Which of the followings is/are active element?

(A) dieea @R/ Voltage source

(B) YRTEId/ Current source

(C) @i/ Both ,

(D) SWIF Y P38/ None of these.

%9 VHDL &fdsi yeR & Rk 1 710 1w @) waar 87
- Which VHDL data type can only have a value of '1' or '0'?

(A) fuma/ signal

®) T/ bit

(C)  std_logic/ std logic
(D) TR/ integer

pn e Y & BT B B
A pn junction acts as a

(A) TEfRTf&EE/ Controlled switch

®) fefawmd 9%/ Bidirectional switch
(C) e fewril < / Unidirectional switch
(D) WIS Big 81/ None of the above
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38.

39.

40,

41.
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ue fiig quft Tam o

The body will move only when

(A)
(B)
©
(D)

U7 6] = S{WRIa §a/ Force of friction = applied force
YU §of <@ 9gad 9/ Force of friction < applied force

YHf0] ¢ >S9 / Force of friction > applied force
IR G/ All of the above

Gl §99¢ TR LI 9Iee 8 W, T6 OP-amp H &=l . mcroezﬁmm%m

With zero volts on both inputs, an OP-amp ideally should have an output

(A)
(B)
(©)
D)

HRTHE HI"Iﬁ diecdl & UM/ equal to the positive supply voltage
FUTHD SH1Gfd dIeedl & T/ equal to the negative supply voltage
Y & GHAM / equal to zero

CMRR & 95 / equal to CMRR

Profef@a & 4 S 91 e e &2

Which of the following statements is incorrect?

(A)

(B)

- (©

(D)

WLWﬁH@H@WW@?ﬁ%@RWB’HWW@HWﬁW
ST faaT ST B

TTL logic has very low power consumptlon and is therefore widely nsed in highly
integrated components.

TTL gice # i TR ad9 3.4 V iR 0.2 V=T 81

TTL devices have logic levels of about 3.4 Vand 0.2V,

TTLY WHR0: Thd 5 V YR w&re §

TTL logic normally operates from a single 5 V supply

TS TTLY § Sevor e gar ® o fgydia ciftred & Wmmwﬁa%!
Standard TTL devices have a propagation delay that is dominated by the storage time of the
b1polar transistors used.

fafefea fog ame o uftuy R3 & e & vavar ool sear 81

Under which of the following case the power dissipated in R3 in the circuit shown will

(A)
(B)
©
(D)

-increase?

9 R1ST9e™I 8/ When R1 is increased

& R2 &Y g0 I8/ When R2 is doubled

E R A B G/ E is reduced

R4 &7 3T Uﬁftmﬁo‘m Wi @/ R4 is short circuited.

Ri1
My

R3
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42.

43,

44,

45.

46,

47..
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TH Faall BT Q Baex 7|

Q factor of a coil is given by
(A) XL/R

(B) R/XL

(C)y XLiXe

(D) X/ XL

T R U SR S —

In sampling theorem the Nyquist interval is given by

(A) Ts= 1
- fm
®B) Ts= 1
2 fim
© T 1
. nfm
D)y Ts= =
fm

WWW g WTiold g

The WWW is a(n) - layer protocol
(A) 9\fdw)/ Physical

(B) SrIWERT/ Application

(C) SiiHSIHSl/ Data link

(DY A/ Session

B T e gHHRR & B BRaE & s 87

Which gate corresponds to the action of parallel switches?
(A} OR gate

(B) NOR gate

. {(C) NAND gate

(D) AND gate

TQT BT GUTOT 3R AR B |
is the fransmission and reception of information.
(A) HIgad/ Modulation
B) - W! Communications
(C) fafdur/ Radiation
(D) Qo / Emission

%mtrr%m%as‘aﬁemﬁaﬁ@fuﬁaaﬁ H1 B

Before audio or video signals can be sent on Internet, they need to be

(A) FllFd/ Channelized

(BY YW/ Managed

(C) SidiFd/ Digitized
(D) widd/ Organized
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48.

49,

50,

51

52.

53.
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e gerd oge e a1 arge & Rigla 1R anuia 3

Which of the following microwave tubes is based on the principle of velocity modulation?
(A) TWT/TWT

(B) URIICAIS/ Pencil triode

(C) TWHSH/ Magnetron

(D) TEFEM/ Klystron

ST am G&dl B1a1 & WId a1l T 41T SIS o &1 & ?

Maximum efficiency will occur, when copper loss is to iron loss?
(A) W 1G1 / Greater than

(B) Y HH/Less than

(C)y w|HF/ Equals to

(D) SRS P13 T8t/ Any of the above
o Sl uRudl W iR ST IUGRT i3 91 & 6 98 I ﬁmﬁaﬁm%!

When transistors are used in digital circuits they usually operate in the:

(A) SRbaem/ active region

(B) G &/ linear region

(C) ~ % SI31 &7 / breakdown region
(D) WYy ok FTHTH &7/ saturation and cutoff regions

IR BT i &

Principle of laser is

(A) @ S[EXNU/ spontaneous absorption
B) SHHIRY Jego / simulated emission
(C) TRUIIHSH/ induced emission

(D) @ (B) T (CYboth (B) and (C)

TF Al 11E & W - 3S;¢ BT Aaad 71 87
What is meant by the fan-out of a logic gate?
(A) ST TET B! T & e & ATSHeye Fl 9IS Tdd 5
The number of other gates that can be connected to the gate's output.
B FTRRuScE U FdustdRsgd
The physical distance between the output pins on the device.
(C) S TEl DI YT o el & 39S H I U T Uy SIST o 9Bl gl
The number of other gates that can be connected to one of the gate's inputs.
(D) K gRT 3uféa 2iaed &1 O '

The amount of cooling required by the gate

frafaf@a yonfeat & 9 warair B ar g§?

Which are the following systems is analog?

(A) PCM

(B) DM

(C) DPCM
(D) PAM
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55.

56.

57.

58,

59.
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ISDN ¥ Tei gl HepeuT gl
The fundamental concept in ISDN is the

(A) UG H$/ Analog signals

(B) W fde U/ Digital bit pie

(C) 3MEN IR/ Voice communication

(D) @R ¥GR/ Computer communication

fau 7 el 0 4 B9 NOR e ®7 uiaedi ¢ 2
Which of the figures given below represents a NOR gate?

1> 4> & 17 -

a. d.
(A) a
B) b
G ¢
M) d

TWT # o o1 guan & forg fpar W @
An attenuator is used in TWT fo :
(A) fide Wﬁf ! Prevent saturation

(B) Wer™dI =81/ Help bunching

(¢) TdT &/ Prevent oscillations -

) Wﬁﬁq/ Increasing ggin
it Sume Sumunerd) o itk e wen &g eRal &) uged e o 2

Batteries are used to power all satellite subsystems
(A) I GEEI TR/ At all times

(B) THE 30T P SR/ Only during emergencies
(C) Ugunafiat % R/ During eclipse periods
() YR T ! Ry & %ﬂ [ to give the solar érrays a rest

NPN iftre? & 39 & sifipan geie Harg &d B

Most of the electrons in the base of an NPN transisior flow:
(A) FeGe & 3T/ into the collector

(B) 9 ¥R % 418X/ out of the base lead

(C) U 3@/ into the emitter

(D) SEWEH & ${gx/ into the base supply

I ied vd gt & 9 o fRaar 81
g F UB IV $ HRU G g

Sun appears red at sun rise and sunset, This is due to scattering of
(A) @t aueH / longer wavelengths

(B) ﬁ%?ﬁ'ﬂ%ﬁ / shorter wavelengths

() g gl lower frequencies

(D) Tt Gﬂqﬁ?ﬁ { all frequencies

Page 11 0of 14




60.

Question Booklet Series - A

Fafead sidaraes gfaaat o 3 59 o) g wram 3 Sudm o o gwar 21
Which of the following semiconductor devices can be used in an enhanced mode?
(A) ulT '

(B) NPN transistor :

(C) JFET

(@) MOSFET
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Questions:
60 Questions to be filled

1. TWT # efloresniY &1 3991 F fou fpararary
An attenuator is used in TWT to

(A) Tidedqica/ Prevent saturation
(B) W@ I=8wT/ Help bunching
(C) T9de aietell/ Prevent oscillations
(D) SR8 AgeT / Increasing gain

2. Wb 3 Tereh #1 FTCRIRE T T [vniE i
A semiconductor has temperature cdefﬁcient of resistance.
(A) VUPHIHD / Positive
(B} XA/ Zero .

(Cy HBUNHD Negative
(D) IR @18 ) 116t None of the above

3. TR.UANREE H HEAT: & fav st Teaa fear mr g
ARM processors were basically designed for
(A) 9% %t yuTlell / Main frame systems
(B) faaiya wowelr / Distributed systems
(C) HiarSer Yomelr / Mobile systems
(D) YR FFYLY/ Super computers

4. Tty giiewor ¥ emuR 1R, ifimay ad e T S et 2

On the basis of dimensional equation, the maximum number of unknown that can be found, is
(A) T& fone
(B) @litwo
(C©) dM fthree
(DY R /four

5. U 3 FARE po WY SKANS 1 9N 38 HITE 7 gl g

A forward biased pn junction diode has a resistance of the order of

A) Q
@) xQ
© Mo

(D) 39U BI5 7461/ None of the above
6. Thudiieiey de o e e Py e

Which of these sets of logic gates are designated as umversal gates?
(A) NOR, NAND.
(B) XOR, NOR, NAND.
{C) OR, NOT, AND. ‘
(D)  NOR, NAND, XNOR.
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7. JUYE YR 1 AHgfa e G

The frequency range for satellite commurication is
(A) 1kHz-100kHz
(B) 100kHz-1 MHz
(C) 10MHz--30MHz
(D) 1GHz-30GHz

8. sl omarfienyiwis T g
Which of the following is not a binary code?
(A) HRE/Morse
(B) TIRE/ARQ
(C) digle/Baudot
(D) WA d-2 1 CCITT2

9. U e forae s d 3 e g 1 Fr aikRe R B%!Hﬁmm‘mmaﬂ?mmwﬁ
ar, e afarer g

The resistance of a conductor of diameter d and length Lis R Q. If the diameter of the conductor is halved
and its length is doubled, the resistance will be ‘
(A) RQ
(B) 2RQ
(C)y 4RQ
(D) 8RQ

10. A3 ©hlT W= 5w wied] UeRfd diar g, A an g e 21

If frames are displayed on screen fast enough, we get an impression of
(A) TR/ Signals

(B) WM/ Motions
(C) OFHTH /Packets

(D) fecg/ Bits

11. faw=fafia o & v gReega oAl g Sl TEir faeeme A9 3 372teT fohar oI &
One of the following transducers is used for very small linear displacement measurements
(A) wadSid/ VDT
(B) - TR 71T/ Pirani gauge

(C) TIUAYE / Thermocouple
(D) U §TBIST /Shaft encoder

12, €n3mestsy e faftr & 3uRier s sirar 8
The CRO uses Method of focusing
(A) Electronic
(B) Electromagnetic
(C) Electrostatic
(D) Electromechanical

13. Tifoler 1T & SM1STYE W Ud DIl 91 g ararg!
A small circle on the output of a logic gate is used fo represent the:
(A) Comparator operation.
(B) OR operation.
(C) NOT operation.
(D) AN operation,
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14, F a9l 715 w2l 317 715 F Ay W e & o3 §
In each node is connected to every other node by direct links.
(A) TSNS/ Ring topology
(B) dramieiall/ Tree topology
(C)  Frer aresit /Mesh topology
(D) TR AYST/ Star topology

15. o ARl 7l

A fetch cycle is the
(A) I YIZIPT T UT UIT/ First part of the instruction cycle
(B)  Jaw Ugldd Srsifos urr/ Last part of the instruction cycle
(C)  3fJa A5fed S UFT/ Intermediate part of the instruction cycle

(D) SFJexIsfahe BIYRe WAT /Auxiliary part of the instruction cycle.

16. ot i IO g g8y s 39197 fShar Srar § dF a8 T # 9ol 21T §1
When transistors are used in digital circuits they usually operate in the:
(A) |fhT &/ active region
B) @I &/ linear region
(C) &% 33T 817 / breakdown region
(D) Uit AT He3ns 819/ saturation and cutoff regions

17, 31feRhc TSR UEHAT 39T L B
Most radar antennas use a
(A) 13ud/ Dipole
B) ﬁlﬂﬁ a7y g/ Broadside array
(C)  #ir SR Raafder WEd®s / Horn and parabolic reflector

(D) Hel&® G/ Collinear array

18. qga7 = 8051 #, Torwey foraenr ¥iftrer ariensr ew T1 31K R1 & g wtar &
In 8051 microconiroller, the register that holds the serial data interrupt bits TI and RI is
(A SMOD
(B) SCON
" (C) PCON
D)y IE

19. S5 ¥ fage fava ot Raifér wfta s wear g1
EEG can involve the recording of electrical potentials from
(A) =RuE g, uiErss ¥ PRy sowsy gr
Groups of neurons, via electrodes inserted into the brain
(B) W@"H/ Single neurons
(C) R ®up, RR @) wad vy soecsy gry

Groups of neurons, via electrodes placed on the scalp

D) St g4l /All of the above
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20. TP § IR dicear (st sar gl

The voltage induced in an inductor is represented as,

(A) TREar 8 @Y} YRT b [OFTHA

Product of its inductance and current through it.

(B) URehdl 3R IHP! URT & F4elld & BT [UAGT

Product of its inductance and rate of change of current through it.

(C) TR T SHSD! YRT BT U

Ratio of its inductance to current through it.
(D) IGS YRT Y UReal BT ST

Ratio of current through it fo its inductance.

21. ISDN 3 3{es1d el gl
The fundamental concept in ISDN is the
(A) W@l EHT/ Analog signals
(B) 3P e wig / Digital bit pie
(C)  3mareT T/ Voice communication
(D) T garR/ Computer communication

22. WfEE B BT ST §
Dimensions of relative density are -

(A) GO/ 9g? / mass/ length™

(B) SoUHM x AaTSY/ mass x length?

(C) I DS AT T / It has no dimensions
(D) ER® / AR/ length’/mass

23. Mﬁaﬁawmaﬂ%mﬁaﬁmﬁw Bl
In an ideal regulated power supply is one which has voltage regulation of
(A) 0%
B) 5%
© 10%
™ 1%

24, PR & & et o AR v iRt 31 U AR B oger ST A 3 57 3 3ler et

Which of the following memories uses one transistor and one capacitor as basic memory unit

(A) SRAM

(B) DRAM _
(C) Both SRAM and DRAM
(1) - None

25, ferTieriard srdverere o fererall o7 & Ry < aeier werer 3 Foiiar R S Aepdr B

Which of the following semiconductor devices can be used in an enhanced mode?

(A) UuIT

(B) NPN transistor
(C) IJFET

(D) MOSFET
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26.

27.

28.

29.

30.

31.
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T TE BT TS H 32T Ty s R
Transmission line must be matched to the load to

(A) IS &I SHUBaT dieed] RIFNG / transfor maximum voltage to the load

(B) e ! siipdn diecal RIFRG / transfer maximum. power to the load
(C) YT FABL/ reduce the load current

(D) QIS DI TSI URT WMEIART ®3/ transfer maximum current to the load

Uep Yy ud ciRegER B Wl Fr iafdy FeaT d
A Thermistor is a transducer which converts
(A) <I9S Y MU | Temperature to resistance
(B)  UTH ¥ dlcedl / Temperature to voltage
(C) dMUHr ¥ YRT/ Temperature to current

(D) SWRIF DY T8/ None of these

AFe F e sitfclsn aieTs e &) shevyed I v §
Inthecase of  adirect physical connection path is established between two computers.

(A) ooy RERET/ Circuit switching
(B) Yape fRafei/ Packet switching
(C) A AT/ Message switching
(D) SIeUm/ Datagram

“C HEA: T fear o
‘C’ was primarily developed as _
(A) WIOTIE WHaNTHaT $T9T / System programming language
(B) |rHEY YISt #9l/ General purpose language
(C)  3iTenar T §19T / Data processing language
(D) 391 $Is =16t / None of the above

ArecHiet T gafgdr 7 zaerd &
Voltmeter sensitivity is expressed in

(A ohm /V

(B) V/ohm

(Cy Ohm-V

(D)  Volts

T3 e et 3mafcd 7 gerqe v dleear sge §, A 313eye deedn

In an unregulated power supply, if input a.c. voltage increases, the output voltage
(A) @aarg/ Increases

(B) wear &/ Decreases
(Cy dATErwarg/ Remains the same
(D) SWIad @5 ST AE1 / None of the above
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32, 3-getqe OR ¢ & Gy oM AU 9 adar e, # wlet Wy 3i3eye o T g

For a 3-input OR gate, with the input waveforms as shown below, which output waveform iscorrect?

INPUT A —J ‘—‘ l I

INPUT B m

INPUT C Lrv—l——-———
QUTPUT a i
OUTPUT b r

CUTPUT ¢

QUTRUT d__r |
(A) a

(B) b
€ ¢
D) d

33. DMA gRarent & fow a0 & 3Wer ff aWor & @6d &l
The concept of utilizing the bus for DMA operatlons is known as
(A) CPU TIfdT/ CPU cheating

- (B) unfa iR/ Cycle stealing
(©) CPU WA /CPU stealing
(D) SWRIE P15 -Te! / None of the these

34. DIAC 3 i a1l oiferet &
ADIAC is nothmg else buta -
(A) TRIAC feTr e effiert & / TRIAC without the gate terminal

(B) GTO & wrrgl €/ GTO with two gates
(C) SCS & |1y ush 31 / SCS with one gate
(D) <ifaecT & 919 U Gieih / Transistor with one junction

35. Eepey Wihere ST &TRT 96T &1l &
The skin effect causes current to flow
(A) TId@ B HE A/ In the center of the conductor

(B) ITE® & g & URG / Near the surface of the conductor
(C) TTaF & T DR P UR / Through central core of the conductor
(D) Ad® F TR TH ¥0 H/ Uniformly through the conductor
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36. fArafaf@a & & =l arafrg doa -

Which of the followings is/are active element?

(&)
(B)
©
(D)

dieedr @a/ Voltage source

R ¥l / Current source

G/ Both

IWRIad H 1S T8/ None of these.

37. Fra VHDL 3iihst 5o 37 [t 1 a1 0 Fod g) Tl 57
Which VHDL data type can only have a value of '1' or '0'?

(M)
(B)
©
(D)

et/ signal
fSe/ bit
std_logic/ std_Jogic

§I¢IR / integer

38. pnEINET wﬁmm%l

A pn junction actsasa

@)
®)

©
(D)

g &=/ Controlled switch

iafe=mf %=/ Bidirectional switch
e fammt ;99 / Unidirectional switch
JURIdd )% 18/ None of the above

- 39, U s el gl e

The body will move only when

(A)
(B)
©
)

U1 9 = ST el / Force of friction = applied force
Iy e <SFWRIE 9/ Force of friction < applied force

TYUT sfe] >3RI ¥/ Force of friction > applied force
JURIGT A/ All of the above

40. <F 1Y R Y diee 9 W, TH OP-amp T e IMBeGe B A1eT|

With zero volts on both inputs, an OP-amp ideally should have an output

(A)
(B)
©
(D)

HDPNIHP Gﬂ‘ljfrf Jlecdl & THH/ equal to the positive supply voltage
BUHD G{IH'\Fcf Jredl & WM / equal to the negative supply voltage
A S A/ equal to zero

CMRR & 91 / equal to CMRR .

41. fufafad § Y o 9 faau a7

Which of the following statements is incorrect?

(A)

(B)
(©

ﬂLWﬁWWWWW%@?WWWWﬁW
SUaNT far S g1

TTL logic has very low power consumption and is therefore w1dely used in hlghly
integrated components.

TTL g o aifvis TR #0934 V iR 0.2 VEar gl
TTL devices have logic levels of about 3.4 Vand 0.2 V.,

TTLAR AR T 5 V $Haff varer 3/
TTL logic normally operates from a single 5 V supply

(D) WﬂL@ﬁWW%%@EWW%WWWUW%I
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Standard TTL devices have a propagation delay that is dominated by the storage time of the
bipolar transistors used.

42 ferrmfat@e fh arera @ aRy R3 # femme #F fermar S sgar g1

Under which of the following case the power dissipated in R3 in the circuit shown will
increase?

(A)- W& RI1ai §@RI 8/ When R1 is increased

(B) SER2BIGIIE/ When R2 is doubled

© E B HH IR/ E is reduced

(D) R4 @ 3eq uRay fhar I g / R4 is short circuited.

R1
A

R2

R3

R4
AV

43. W HIE T Q B |

Q factor of a coil is given by
(A) XL/R
(B) R/XL
(C©) XL/ Xc
(D) X XL

44, Foffer R # Fafeaee sl BART &7 ST &
In sampling theorem the Nyquist interval is given by
(A Ts= |

fm
B Ts= 1

2m
C) Tse= 1
mfin
®) Ts=

fm

=

45. WWW HAE el §1
The WWW is a(n) layer protocol
(A) ifd@®l/ Physical '
(B) Sf™NT/ Application
(C) SfIBSI &N/ Data link
(D) A/ Session

46, e T AT TATAIR Foae 1 HRATS & 3767 §?

Which gate corresponds to the action of parallel switches?.
(A) OR gate
(B) NOR gate
(C) NAND gate
(D} AND gate
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- 48.

49.

50.

51,

52.
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T T YHoT 3¢ 3iflyugur 3
is the transmission and reception of information.
(A) HI§EI/ Modulation
(B) HYR/ Communications
(C) T1didur/ Radiation
(D) SIS/ Emission

AT AT TR HHFA GeIc WA T TG 38 ahidelT G|
Before audio or video signals can be sent on Internet, they need to be
(A) %ﬁ?ﬂ@‘_ﬂ [ Channelized
(B) IRIE/ Managed
(C) 8ieldd/ Digitized
(DY Wi/ Organized
eI Qe oga e Qe arger & fgid  3menia &

Which of the following microwave tubes is based on the principle of velocity modulation?
(A) TWT/TWT
(B) UR@ECRIS/ Pencil triode
(C) WOTFICH/ Magnetron
(D) TR/ Klystron

31T SBTCT 81T § Sid AT a1 &7 oy & &7 4 ?

Maximum efficiency will occur, when copper loss is to iron loss?
(A) M€l Greater than
(B) U ®/Less than

(C) ¥WHM/Equals to
(NI IR Y gt/ Any of the above

At T THETTE

Principle of laser is A
(A) A AN/ spontancous absorption

®) eFEIRG Jo / simulated emission
(C) RO/ induced emission
(D) < (B) Td (C)/both (B) and (C)

Ueh Sfifoith A1 & Yol — HTHC &l Adeld F2AT§7?
What is meant by the fan-out of a logic gate?
(A) 3R TR BT HBI S T F Ky F oS gad Bl
The number of other gates that can be connected to the gate's output.
(B) YfdR W emGeye [u-l & offa ot aitfae ot
The physical distance between the output pins on the device.
(C) S TIT &t 1 o 1€ & ggel H Y UH B Ui SiNsl o 9o g
The number of other gates that can be connected to one of the gate's inputs.
(D) e giRT SIUTer ider @ AT

The amount of cooling required by the gate
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53. ARM # 3138 v9¢ gl
The address space in ARM 1s
(A) 2724
(B) 2"64
(C) 2716
(D) 2732

54, Rrrtafaa vonfertt 7 & TaAri Hist €rg?
Which are the following systems is analog?
(A PCM
(B) DM
(C) DPCM
(D) PAM

55. fawarw fREt e NOR e w1 wigedr§ 2
Which of the figures given below represents a NOR gate?

1o 1> &> 47 0

- a. d.
(A) a
B b
© ¢
D) 4

56. | 3arE 3AYONTY I AfF FaTeT FeT g SRl sl SRR oham STTeTT &1
Batteries are used to power all satellite subsystems
(A) I gTai o/ At all times
(B) W U & R Only during emergencies
(C) vgunaferdi s &R/ During eclipse periods
() IR W H AN T8/ to give the solgr arrays a rest

57. 3T TR Yo7 I et B
Data communication refers to the transmission of
(A) 3ars/ Voice ,
(B) FFoged 3iTehsr/ Computer data
(C) @ifE=r/ Video
(D) 3T F1E w1 /AL the above

58. NPN ifSreet & 3 71 3fecst ST waTg Fid 8
Most of the electrons in the base of an NPN transistor flow:
(A) daeR P @/ into the collector

(B) < RRT% g/ “out of the base lead
(C) URER® 3fEX/ into the emitter
(D) SEYGHID 3@/ into the base supply
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59, 0 e T AR & W ellet o §
T8 FUPIH F BROUSA R

Sun appears red at sun rise and sunset. This is due to scattering of
(A) el adricel / longer wavelengths
(B) Y q&TeH / shorter wavelengths
(©) T sgimi/ lower frequencies
(D) udl argfaat/ all frequencies

60. C W & #7=M=T i o o T TErIT | SN
C Programs are converted into machine language with the help of
(A) UiEeT/ An Editor
(B) SFUEeR /A compiler
(C) we ATET yoTell /An operating system
(D) =T 3 1S 8 78T /None of these.
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60 Questions to be filled

1. “C’%) gora: faw R e man

‘C’ was primarily developed as

(A)
(B)
©
@

2. U 3TE HToTe 3 FTCRIE 3T a1 Ot

Torrelt TrTTEeT Jm System programming language
Y WA UM/ General purpose language
SHHST U YT/ Data processing language
SR $IS gt / None of the above

&

A semiconductor has temperature coefficient of resistance.

(A)
B)
©)
(D)

YHRIHT / Positive

R/ Zero
FUFHD /Negative

SWIFT Tﬂ'ap lﬂ:ﬁ!}f /None of the above

3, C URH ST AT &y d P T Bl St §

C Programs are converted into machine language with the help of

(A)
(B)
(©
)

wfge/ An Editor

DHHEIZEN /A compiler

T SO JomTelt /An operating system
14 ®Is i T8t /None of these.

4, 31TEhcTeT ER U= 3UATaT &) &

Most radar antennas use a

(A)
(B)
©)
(D)

S. TSliRitd S sgfd & g e @ decar gegar 2, & 3{T3eye diecdr

In an unregulated power supply, if input a.c. voltage increases, the output voltage

(A)
(B)
(©)
(D)

fgyda/ Dipole

ﬁ?ﬂﬁtﬂ%f g / Broadside array
*11 3R YRaEIP TGP / Horn and parabolic reflector

W@ﬁ ogg / Collinear array

&6/ Increases

YIE?IT%! Decreases

Gl _69[ AT g/ Remains the same
IRIFT Eﬁﬁ oft :IBQI [ None of the above

6. fpTaifse ey 9e ® wide Teq FkE §

Which of these sets of logic gates are designated as universal gates?

(A)
(B)
(©)
D)

NOR, NAND.

XOR, NOR, NAND,
OR, NOT, AND.
NOR, NAND, XNOR.
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7. JUUE UR BT SRy I &
The frequency range for satellite communication is
(A) 1kHz-- 100 kHz
(B) * 100 kHz—1 MHz
() 10MHz-30MHz
(D) 1GHz-30GHz

8. W.am.eh IR fale 1 Ui fasar s 31
The CRO uses Method of focusing
(A) Electronic
(B) Electromagnetic
(C)  Electrostatic
(D) Electromechanical

9. Tl qonfagt 3 I UATellaT =T AT g2
Which are the following systems is analog?
(A) PCM
(B) DM
(C)y DPCM
(D) PAM

10. e d fae=es 8051/, Wole Tolerent TR 3tiensT faed T 3R Rl & g5 ST §
In 8051 microcontroller, the register that holds the serial data interrupt bits TT and RI is
(A) SMOD
(B) SCON
- (C) PCON
(D) 1IE

11, Te Trerh fSraeT card d 3R aars 1 %7 JioRIe R 0§ I <Toreh & sam 3T S 34y ofsng aarar
& al, 3T FIACE 2

The resistance of a conductor of diameter d and length 1 is R Q. If the diameter of the conductor is
halved and its length is doubled, the resistance will be

(A) RQ
{B) 2RQ
(C) 4rRQ
(D) B8RO
12. . . Fyde A ul e s s e WA RE YIS 8
In each node is connected to every other node by direct links.

(A) TarcmEs/ Ring topology
(B) SISt/ Tree topology

(C) #=regrars! /Mesh topology
(D) TRE/ Star topology

13. e sifaras yidaal 7 9 g @t ad arem 3§ Suan far =1 gedr g
Which of the following semiconductor devices can be used in an enhanced mode?
(A uJT
{B) NPN transistor
(C) JFET
(D) MOSFET
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14. 1f& wp17 7R vy wied] vafRia e g, o gh forg firemar 31
If frames are displayed on screen fast enough, we get an impression of
(A) R/ Signals
(B) HI=RF/ Motions

©
(D)

m [Packets
fdcq / Bits

15, Tafof@a 31 O U CiEsquT i age oIl W faene) wide & ST faar S ¢

One of the following transducers is used for very small linear displacement measurements

(A)

TA.GLELE/ LVDT

(B) fUer 7T / Pirani gauge

(C)
)

?‘IT@QH/ Thermocouple

e 5:@- &Y /Shaft encoder

16. TIR® e & $3eye W U Bl g frefid sear 3|

A small circle on the output of a logic gate is used to represent the:

(A) Comparator operation.
(B) OR operation.
(C) NOT operation,
(D) AND operation.
17. g arsfad _Fl
A fetch cycle is the
(A)  SIJa% YISfdbd BT WYY UFT/ First part of the instruction eyele,
(B) 3R Ursfdrd I3 YT/ Last part of the instruction cycle
(C) 3w wrglehd S YNT/ Intermediate part of the instruction cycle
(D) 3R II3fda HTRS YT /Auxiliary part of the instruction cycle.
18. 580 3 fagd fava & feprfén g e wear 1

EEG can involve the recording of electrical potentials from

(A)

B)
©

D)

i o1 g, Oiene # Ay sy g

Groups of neurons, via electrodes inserted into the brain
U R / Single neurons |
RGBT Y, RR & Ea & v saacisy gRT

Groups of neurons, via electrodes placed on the scalp

SR G4l /All of the above

19. fadlg wdtexor & R |, Siffedy 3ima T urs o Yol ..

On the basis of dimensional equation, the maximum number of unknown that can be found, is

(A)
B)
©
(D)

Teh Jone
&l /two
o /three
I ffour
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20. TP o IR07 dieeal (i @vdl

21.

22,

23.

24

25.

The voltage induced in an inductor is represented as,
(A) TR 3R SUD] YRT BT UM -
Product of its inductance and current through it.

(B) RT3k SUDB! ¢RI F §GAT <R BT {UFHT

Product of its inductance and rate of change of current through it.

(C) WRSHdl ¥ FHS! 4RI BT U

Ratio of its inductance to current through it.

(D) IS YRT Y Wbl Bl S{Urd

Ratio of current through it to its inductance.

3 Y U fRenurd org T8 &7

Which of the following is not a binary code?

(A) "/ Morse

(B) TSRF/ARQ

(C) diSE Baudot

D) WA AR -2/ corrre

U 31 TIRS pn U SIS BT ufcRlY sg Sife S8 gl
A forward biased pn junction diode has a resistance of the order of
Ay Q
By k&
) MQ
(D) SWRIF B Tal/ None of the above

Tféis T BT ST &
Dimensions of relative density are

(A) S/ GaR® / mass / length™

(B) TEHM x @915 mass x length’

(C) SYYBIE MM G/ It has no dimensions
(D) das°® / GoIHH/ length*/mass

AreeHe &1 genfear o o

Voltmeter sensitivity is expressed in
(A) ohm /V
(B) V/ohm
(C) Ohm-V
(D) Volis

el Freifa Forf emufif as & foramt dieear faaor g

In an ideal regulated power supply is one which has voltage regulation of
(A) 0%
(B) 5%
) 10%
(D) 1%
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26. eI ARABIAS B oIy [HwmaEraiRu

Transmission line must be matched to the loadto

(A) IS BT HfAHIH diecdl RIFGARAT / transfer maximum voltage to the load
(B) €IS &l ifYeHad diecdl QMR / transfer maximum power to the load
(C) dI8 YRTSTBHHY/ reduce the load current

(D) 8% HRDHIH YR RIFART L/ transfer maximum current to the load

27. U YR g g W F aftafis T 2
A Thermistor is a transducer which converts
(A) aHE A SRY® [ Temperature to resistance
(B) AWM ¥ dlecdl/ Temperature to voltage
(C) WHgH™ q YRT/ Temperature to current
(D) SR PIS 781/ None of these

28. SHidgl dar YU 1 HEd B
Data communication refers to the transmission of
(A) s[RI/ Voice
(B) W 3IFST/ Computer data
(C) difEdl/ Video
D) ENES) a’l‘_{ 8! /All the above

29. DIAC 3R Fe 78 ofdeT gl
A DIAC is nothing clse but a
(A) TRIAC 1 7 efifeq % / TRIAC without the gate terminal
(B) GTO & WY EITE / GTO with two gates
(C) SCS & WY T 71T / SCS with one gate
(D) IRy & 91y U YIS / Transistor with one junction

30. ISDN # Hels1d Hheds gl
The fundamental concept in ISDN is the
(A) TAEINTi%d/ Analog signals
(B) si@lafye ui/ Digital bt pic
(C) SIE §9R / Voice communication
(D) ®URIIR/ Computer communication

31. ae I A siifder GaieT vy gl wevged 3t wenfid §
Inthecaseof  adirect physical connection path is established between two computers.
(A) ufRgy RaRiT/ Circuit switching
(B) Uope fRafdT/ Packet switching
(8))} o i/ Message switching
(D) SICHE/ Datagram
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32. 3-ge19e OR 91T & @rey of1 fqu $9e et v, 21 i a7 3mseqe adernmd agr 3

For a 3-input OR gate, with the input waveforms as shown below, which output waveform jscorrect?

INPUT B J——I——,—

INPUT C l*r—
OUTPUT a | 1
CUTPUT b L

OUTPUT ¢
OUTPUTd—" l
(A) a
B) b
(C) ¢
o) d
33, DMA SRETeRT 3 T a3 ST i (o FEI L

The concept of utilizing the bus for DMA operations is known as
(A) CPU I/ CPU cheating

(B) wEidd €T/ Cycle stealing
(C) CPU I /CPU stealing
(D) I D% T8/ None of the these

34. TaR.HNST 3 5o & fonu aif¥epfet fasar T 8
ARM processors were basically designed for
(A) 7 TpH YOIl / Main frame systems
(B) fadivd womet / Distributed systems
(C) Trarsd oelt / Mobile systems

(D) YW PR/ Super computers
35. Tawsifaiad 7 & Sie a1 AART e giReet 3k v FReT & {7 A e & o F 37T aee

Which of the following memories uses one transistor and one capacitor as basic memory unit

(A) SRAM
(B) DRAM
(C) Both SRAM and DRAM
(D) None
36. WolHr fAgiTy

Principle of laser is
(A) T SFUYU/ spontaneous absorption

(B) SH@ING JWOH / simulated emission
(€C) WRUFEST/ induced emission
(D) &I (B) T (C)/both (B) and {C)
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37. ARM # 3150 #9490 gl
The address space in ARM is
(A) 2724
B) 2764
() 276
(D) 2732

38, fee=Tafrd # & sl ar afs ocd -
Which of the followings is/are active element?

{A) el ld / Voltage source

(B) YRISId/ Current source

(C) THi/ Both

(D) FURIa] H BIs 81/ None of these.

39. T VHDL 3iiehsT 9eR 41 [ 1 a1 0 e g §ehetl 67
Which VHDL data type can only have a value of '1' or '0'?
(A) R/ signal
(B) fae/ vit
(C)  std_logic/ std_logic
o Ry integer

40. wes U i) <ol S5
The body will move only when
- (A) YU g = SIWYdd §¢1/ Force of friction = applied force
B) oy 9 <3{J¥gad §d/ Force of friction < applied force
(C) oy 9 >3{JUYdd 9 / Force of friction > applied force
®) U gHt/ All of the above

41. 3 §19¢ R YA dIee g9 W), TF OP-amp 7 sreefa: IM3euge g1 iyl
With zero volts on both inputs, an OP-amp ideally should have an output
(A) TPRIES 3HYfd diecdl & T/ equal to the positive supply voltage
(B) HUHSD &ﬂqfcf dlecdl & TH / equal to the negative supply voltage
(Cy I &AM/ equal to zero
(D) CMRR & HHF / equal to CMRR

42. Frofafed o 9 o o fdawo 1ad g7
Which of the following statements is incorrect?
(A) TTL OfSw & 950 o9 ol @ug i1 & 3R 39T 3 gl U] § WieiR,
ST T STl B
TTL logic has very low power consumption and is therefore widely used in highly
integrated components.

@) TTL YR Hdfe eReie3.4V eﬁwzv@m%n
TTL devices have logic levels of about 3.4 V and 0.2.V.

(C)  TTLYE QIR Tad 5 V oy vrereq §
TTL logic normally operates from a single 5 V supply
(D) HFE TTLYF A dorul faeie g ¢ S feydi oivyey & HeRU IR gRT THIfda 81
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Standard TTL devices have a propagation delay that is dominated by the storage time of the

bipolar transistors used.

43. TS Pl I Q et B
Q factor of a coil is given by
(A) XL/R
(B R/XL
(C) XL/Xc
Dy X/ XL

44. WWW. g W ¢
The WWW isa (n) layer protocol
(A) fd®t/ Physical
(B) SFTWRIRT/ Application
(C) SiPSIHEl/ Data link
(D) WA/ Session

45. wlef U e FATAIR e hr TS % 3% 87
Which gate corresponds to the action of parallel switches?
(A) OR gate
(B) NOR gate
(C) NAND gate
(D) AND gate

46, =T T HATOT 3 3 Hargor ¥
is the transmission and reception of information,
{A) H1gaT / Modulation
(B) @R/ Communications
(C) fafeor / Radiation
(D) I / Emission

47. TrATa T gedter ce e 9o wigersT & fagia ov menia §-
Which of the following microwave tubes is based on the principle of velocity modulation?
(A) TWT/TWT
{B) URM®ICEIS/ Pencil triode
) fmelé)[:f/ Magnetron
(D) T/ Kiystron

48, NPN giforex & 39 o siftiaraH §a9cH Yare $d Bl

Most of the electrons in the base of an NPN transistor flow:
(A) AFETF ST/ into the collector

(B) oY {1 ¥ g/ out of the base lead
(C) U & SiaT/ into the emitter
(D) S¥UGH & 3fg/ into the base supply

Page 9 of 14




Question Booklet Series - C

49. pn HASE T H FHH FAT5
A pn junctjon acts as a_
(A) FERBTRIE/ Controlled switch
(B) fafd=mdt f&=/ Bidirectional switch
(C) U feumdt %69 / Unidirectional switch
(D IR ﬁ'é’ gl / None of the above

50. 3rferenciaT ZETCT §IeIT § STel ol a7 67 olig & 8T & ?
Maximum efficiency will occur, when copper loss is_- to iron loss?
(A) UG/ Greater than
(B) Y'HH/Less than
(C) HHH/Equals to
(D) IWIGd $Ig 981 / Any of the above

Sl.mmqﬁqﬁwaﬁwwwmm%ﬁaﬁwm: & TaTelT grar 2|
When transistors are used in digital circuits they usually operate in the: "
(A) HiHT &F/ active region
(B) WM &/ Hnear region
(C) o 813 &7 / breakdown region
(D) g 3R FEATE & / saturation and cutoff regions

52. 45T AT 7Y Tehel Sedeic 9T Aot & IgaT 39 AT B1aTT)

Before audio or video signals can be sent on Internet, they need o be

(A) TFENd/ Channelized
(B) ¥/ Managed
(C) SiPIpd/ Digitized
(D) Efdd/ Organized

53, TP AP T B B - ATSHE ST ATAE 1 87
What is meant by the fan-out of a logic gate?

(A) 3 e o e o e & Sl eye Bl oS Wb §
The number of other gates that can be connected to the gate's output,

(B) 4ffRT IR erFeye ol & i ot vifos &
The physical distance between the output pins on the device.
(C) 3T TS T Teedy ot 9] F §9Ye! #f ¥ U & WY SISt o U &1
The number of other gates that can be connected to one of the gate’s inputs.

(D) 11T GRI Sifé LideH & 9@y

The amount of cooling required by the gate

54. {¥eheT Ulhere GaNT £IRT SGT4 BT &
The skin effect causes current to flow
(A) Hicidh FHEU/ In the center of the conductor

(B) 1% % Uag & U/ Near the surface of the conductor
(C) drdd & Ul PR b YR/ Through central core of the conductor
(D) TP & YR UH 9T/ Uniformly through the conductor
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55. fGU aTT el & 9 &iet NOR 9 s giaedr § 2
Which of the figures given below represents a NOR gate?

1o- 4> & J5

a. d.
(A) a
B) b
@ ¢
(D) d
56. TWT o sftverd &1 3ugm F emfrmemare

An attenuator is used in TWT to
(A) TUdTIqi@I/ Prevent saturation
(B) He™dI I=8-1/ Help bunching
(C) Tde el / Prevent oscillations

(D) STPIRIT ST/ Increasing gain
57. Tt IR SUNUNTeR] B Widd UeH @3 o 9eidl & igad faar Jrar g1

Batteries are used to power all satellite subsystems
(A) I g U/ At all times

(B) HE TR ?5 AR/ Only during emergencies
(C)  viguiafddi %GR/ During eclipse periods
{3) TR WD fRm e R4/ to give the solar arrays a rest

58. fufciar frage & aoiFase sfau eanT Rar Smar gl

In sampling theorem the Nyquist interval is given by

Ay Ts= 1
fm
B) Ts= 1
2 fim
(C)y Te= 1
afm
D)y Ts= =
fin

59. e gaiey Ud quitd & W A fGwdT 81
g F UBIH B PRUTEA &

Sun appears red at sun rise and sunset. This is due to scattering of
(A) odl GRICtz | longer wavelengths
®) agaTeef / shorter wavelengths
(©) Gﬂqﬁlﬁ { lower frequencies
(D) w3 3afcl/ all frequencies
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60. =TTl Ed g ATFer 7 gRge R3 o fewre & g Feir sear g1

Under which of the following case the power dissipated in R3 in the circuit shown will
increase?

(A) SHRISIGEEIE/ When Rl is increased

(B) WER2BIGUAIHIA G/ When R2 is doubled

(C) E & wH AT /E is reduced

(D) R4 &I 37 ulkuy fsar Siar § / R4 is short circuited.

R1
AN
R2
— E ‘
R3
R4
AN
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Questions:
60 Questions to be filled

1. i aiieru & MR W, 2ifiedy S ST uTs o Yal ¢...

On the basis of dimensional équation, the maximum number of unknown that can be found, is
(A) UF/one
(B) Tlltwo
(C) OH /three
(D) 4R ffour

2. Tw SRR el Sigfd # gge Tl dieedT Sear &, o SiSeye el
In an ynregulated power supply, if input a.c. voltage increases, the output voltage
(A) ¥eaI 3/ Increases '
(B) gearg/ Decréases
(O 391 €t T8 2/ Remains the same
(D) SWRIGI B3 o 781/ None of the above

3. Togenfoeicy 3¢ &l aifde Teg Pfds g
Which of these sets of logic gates are designated as universal gates?
(A} NOR, NAND. '
(B) XOR, NOR, NAND,
(C) OR,NOT, AND.
(D) NOR, NAND, XNOR.

A, Teh TTeTeh (e =18 d AR F=aTg 1 1 9faer R 01 9 aree s sare 3men 3 3gehT ofers o= i o,

YR wiaRrer gl

The resistance of a conductor of diameter d and length [ is R Q. If the diameter of the conductor is halved

and its length is doubled, the resistance will be
(A) RQ
{B) 2RQ
(C) 4RQ
(D) BRQ

5. Hrem.e o e i fafy o1 IugeT oo e g1
The CRO uses Method of focusing
{A) Electronic
(B) Electromagnetic
{(C) Electrostatic
(D) Electromechanical

6. geA e 8051 F, Yrer o WifRae eiest ey TI IR RI BT e el &
In 8051 microcontroller, the register that holds the serial data interrupt bits TI and R is
(A) SMOD ‘ '
(B) SCON
(C) PCON
(D) IE
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7. ' T yde s ot o s F uy T Ris IS 7

In each node is connected to every other node by direct links.
(A) ToTEUEIST/ Ring topology
(B) SIeidsi/ Tree topology
(C) ARTTIAS /Mesh topology

(D) WRAUESI/ Star topology

8. afr G e v e Rl e S, gt frg Frar 21

If frames are displayed on screen fast enough, we get an impression of
(A) Ted / Signals
(B) HILIY / Motions
(C) OPHCH /Packets

- (D) e/ Bits

9. FFAfellEd # ¥ Uoh TIESTER Pl SEc SICT VG [OeTot A+ & ST foha S 1
One of the following transducers is used for very small linear displacement measurements
(A) wadd &/ LvDT | |
(B) TORT 7 / Pirani gauge

(C) Q99T / Thermocouple
(D) MG GHHIST /Shaft encoder

10. Tek 31} "Teran A YT 7 AT UM J
A semiconductor has temperature coefficient of resistance.
(A) YPRIHASD / Positive
(B)Y T4/ Zero

(C) TBUTHD /Negative
(D) I B1s W T8t /None of the above

11. QP T & ST IR TP BIEI g4 frefia wRar gl
A small circle on the output of a logic gate is used to represent the:
(A) Comparator operation.
(B) OR operation.
(C) NOT operation.
(D) AND operation.

12. C WamH & Jefer Fr omar & FI AT T F AL

C Programs are converted into machine language with the help of
© (A). WX/ AnEditor
(B) HHIGER /A compiler
(C) TP SRS yomett /An operating system
™ Y 13 1) 78T /None of these.
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13. Uer ErsieRe gl

A fetch cycle is the

(A) SIQu WIgidiel &1 YT YT/ First part of the instruction cycle
(B) ST AISha BT U/ Last part of the instruction cycle
(C)  SIIo WISfT ST YT/ Intermediate part of the instruction cycle

(D) SIS WISfdhel BIYRF R /Auxiliary part of the instruction cycle.

14, 3O TBR =TT 3UANT i §1
Most radar antennas use a
(A) T33a/ Dipole
(B) Tawga urf &g / Broadside array
(C) S 3l wRafi® WRIFd® / Horn and parabolic reflector

(D) HedWH g/ Collinear array

15. veh AffEey U giesga § S &1 yfafds s g
A Thermistor is a transducer which converts
(A) d9HE W *RIY® / Temperature to resistance
(B) OIYHM ¥ dieedl / Temperature to voltage
(C) TIYHH Y 4RI/ Temperature to current
(D) YURIad BT T61/ None of these

16. SUUE TUR &I S I 7
The frequency range for satellite communication is
(A) 1kHz-100kHz
(B) 100 kHz -1 MHz
(C)y 10MHz-30MHz
(D) 1GHz—-30GHz

17. 5710 9 9 W enur wis 7t &7
Which of the following is not a binary code?
(A) TN/ Morse
(B) UIRT/ARQ
(C) IS /Bandot
(D) WWatemaAd-2/ CaITT2

18. g5.50 ¥ faga va o1 RefST i o= wear 3|
EEG can involve the recording of electrical potentials from
(A) g eI, s § FRE sdegey grT
Groups of neurons, via electrodes inserted into the brain
(B) UPA =R/ Single neurons '
(C) eHTagE, R 7w d waeesy R
Groups of neurons, via electrodes placed on the scalp

(D) TURIad i /Al of the above
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19, *C’%! g : fae far ma
‘C’was primarily developed as
(A)  wromTeR ST UTST/ System programming language
B) gHHAH TRITSI HTNT/ General purpose language
(C)  Siferel WNTHT HINT / Data processing language
D) SR &5 g1 / None of the above

20. WWWM@%%WWW 2l
In an ideal regulated power supply is one which has voltage regulatlon of
(A) 0%
B) 5%
(C) 10%
O 1%

21. %ﬁﬁﬁ@ﬁ#ﬁﬁﬂmﬁﬁﬂwa@waﬂtwﬁ%ﬁwﬁwwmﬁwﬁmm
Which of the following memories uses one transistor and one capacitor as basic memory unit
(A) SRAM
(B) DRAM
(C) Both SRAM and DRAM
(D) None

22, CoREAGREd ST e %%qaﬁ\wﬁqa%mw%
ARM processors were basically designed for :
(A) T A UURR / Main frame systems
(B) faafed wummddi / Distributed systems
) TﬁEﬂE;ET TUTTE / Mobile systems
(D) YR PRI/ Super computers

23. GUETOT ATSA I AS F (o0 Ry S w1l
Transmission line must be matched to the load to

(A) T8 B 3UGad decdl ”IMIANG / transfer maximum Voltage to the load

(B) s @ Siii@an dlecdl QARG / transfer maximum power to the load
(C) WS YRTBIFH B/ reduce the load current

(D) TS Sl HYEdH URT FGRT Y/ transfer maximum current to the load
24, Ao 7 e S T Ty & sEeged F T B

Inthecaseof _ adirect physical connection path 1s established between two computers.
(A) uRuy ﬁ%rf%m/ Circuit switching
(B) Tare fRIRkAT/ Packet switching
(C) o feafdn/ Message switching
(D) SIWUE/ Datagram

25, diecAedrgafgar - Hoasd gl
Voltmeter sensitivity is expressed in
(A) ohm /V
{(B) V/ohm
(C) Ohm-V
(D) Volis -
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26. DIAC 3R T 76} oifdber gl

A DIAC is nothing else but a
(A) TRIAC a1 e efffe & / TRIAC without the gate terminal
(B) GTO F I AT/ GTO with two gates
(C) SCS & Y UF e/ SCS with one gate
(D) iR & 919 T WASIP / Transistor with one junction

27. 35919 OR 91T & WY &g v 9 aer e, 7 Filef T7 3m8cqe erkomeist et ¥

For a 3-input OR gate, with the input waveforms as shown below, which output waveform iscorrect?

woa— L[ LT 1L

wors— 1 L[

INPUT C j_—_lh
OUTPUT a L .
QUTPUT b J—

OUTPUT ¢

ouTRUT d %—l 1
(A) a |
B) b
(C) ¢
(D) d
28. DMA 9RTerT & o0 U & 3uaiarhr aion sy &g ¥
The concept of utilizing the bus for DMA operations is known as
(A) CPUSEN/ CPU cheating ‘
(B) wgfda i/ Cycle stealing
(C) CPU W /CPU stealing
(D) SWRIed $IE T8/ None of the these

29. U% 3 §URS pn Gl S w1 Ul sg wife WD B
A forward biased pn junction diode has a resistance of the order of
A) Q
(B) kQ
() MQ
(D) 39TwT FS HET/ None of the above

30. 3feRgT HAT Q90T T Fgdd ¢
Data communication refers to the transmission of
(A) SMaT/ Voice
(B) R &UWT ! Computer data
(C) dif$ar/ Video
(D) SURIH 15 76T /Al the above
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31, W& T T S B
. Dimensions of relative density are

(A) T/ G5 ° / mass/ length™

(B) &M x 915/ mass x length®

< JTH BIS ST Tl / It has no dimensions
(D) daE® / GHAM/ length®/mass

32. oot Tivere 2@ 9T 9619 g1 B

The skin effect causes current to flow
(A) TP & b H/ In the center of the conductor

(B) =ide @ g & U/ Near the surface of the conductor
(C) dTdd dHAH PR S IR/ Through central core of the conductor
(D) I & R T ¥ H/ Uniformly through the conductor

33. feAfalfed & A wler oy wishar aea -
Which of the followings is/are active element?
(A) dicedi W/ Voltage source
(B) YRTET/ Current source
(C) <Hi/ Both
(D) IR T BYE T/ None of these.

34, pn G ST H FrE AT
A pnjunction actsasa

(A) FERTRE/ Controlled switch
(B) fefewmdt Rawr/ Bidirectional switch

(C) U 1l %9 / Unidirectional switch
(D) JWRiad ®Is 981 / None of the above

35. ﬁmﬁ@aa&wm%%wﬁ@mwmﬁa%
Which of the following microwave tubes is based on the principle of veloc1ty modulation?
(A) TWT/TWT
(B) URMICAIS/ Pencil triode

(C) WIHEF/ Magnetron
(D) R/ Klystron

36. U F T dieeal s Fear gl
The voltage induced in an inductor is represented as,
(A) TREA AR BT YRT BT QBT
Product of its inductance and current through it.
B) WREHdr R ITH! YRT F IGTT & BT 0D
Product of its inductance and rate of change of current through it.
(C) Tdl ¥ U 4RI BT 3UT '
. Ratio of its inductance to current through it.

(D) IYST YR Y WPl BT U

Ratio of current through it to its inductance.
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37. U U qeft =rern S
The body will move only when

(A) TEHUIEA= S{JUgdd 97/ Foree of fnc‘aon = applied force
(B) =4Ol 9§ <3fugad §a/ Force of friction < applied force
(C) Y07 & >SJgad 96/ Force of friction > applied force
(D) JuRIEd 94/ All of the above

38, WWw HAE eIl 1
The WWW is a{n) : layer protocol
(A) AT/ Physical
(B) SIWAIT/ Application
(C) SiBSTHST/ Data link
(D) A/ Session

39. W VHDL 3ffersr webrd 7 Rl 1 27 0 764 67 Toram 27
Which VHDL data type can only have a value of I'or'0'?
(A) R/ signal
(B) faesvie
(C)  std_logie/ std_logic
(D) gfewy integer

40, Frafafed ¥ 8 o a1 favor mew g2
Which of the following statements is incorrect?
(A) TTL difeie H 90 9 ol GUd 8idt § IR 33T 35 9o uea! § wurems
AT T ST B
TTL logic has very low power consumption and is therefore widely used in highly
integrated components.

(B) TTLylda & AfSie TR $d93.4 V 3R 0.2 VR gl
TTL devices have logic levels of about 3.4 Vand 0.2 V.
(C) TTLYMGT VYR THdr 5 V SMYf T=meH &
TTL logic normally operates from a single 5 V supply
(D) HM® TTLY § duvur fads giar ¢ & Ryda oiftued & vsror gmy gri mifag 21

Standard TTL devices have a propagation delay that is dominated by the storage time of the
bipolar transistors used.

AL ARMFZE®E %
The address space in ARM is
(A) 2724
(B) 2764
(©) 276
(D) 2732
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42, RFiatEd e Areter 9 9ay R3 7 e 7 Braur 53T aear g
Under which of the following case the power dissipated in R3 in the circuit shown will
increase? ‘
. (A) ©@F RIFIFEEIE/ When R1 is increased
(B) WER2FBIGNHAE/ When R2 is doubled
(©) BRI FAHWE/E is reduced
(D) R4 Y 3y uRuy fHurSIaT 8/ R4 is short circuited.

R1
A
R2
— E
R3
R4
MV

43. Avieier Bt & wafeare saua SART T ST B
In sampling theorem the Nyquist interval is given by

(A Ts= 1
fm
By Ts= 1
, 2 fm
Cy Ts= 1
afm
D) T&= =
fm

44. W F3elr # Q e ¢
Q factor of a coil is given by
(A XL/R
(B) R/XL
(C) XL/Xe
(D) X/ XL

45. e T HNOT 3R 31T &)
is the transmission and reception of information.
(A) HIgWd/ Modulation
(B) AR/ Communications
(C) fafevur/ Radiation
(D) G/ Emission

46 HoT AT TR EheT ST T Hod ¥ TEeY 3 T AT

Before audio or video signals can be sent on Internet, they need to be

(A) T9elipd/ Channelized

(B) U™TEAT/ Managed

(C) sfeipa/ Digitized
(D) T&d/ Organized
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Question Booklet Series - D

HIAFTH CBTAT BYAT B T TS T &7 olig & 670 & ?
Maximum efficiency will occur, when copper loss is to iron loss? -
(A) &I/ Greater than
(B) Y&/ Less than
(C) TH/Egualsto
(D) SWIE P 7a]/ Any of the above

ST 3T TRt e iR P ST AT e ¥ & gy S afrqam;ram%l
When transistors are used in digital circuits they usually operate in the:

(A) 1:@5?1 &F/ active region

(B) & &F/ lincar region

(C) §%F B3 &7 / breakdown region

(D) Qi R FesTw 89/ saturation and cutoff regions

oIS T gl &
Principle of laser is
(A) wd; Sgeyur/ spontaneous absorption

(B) 3I@id Iego / simulated emission
(O TR IS / induced emission
(D) @I (B) T (C)/both (B) and (C)

wefY 3UrE SUHONTe S AT YaTe e g SRt s e fpar smar &
Batteries are used to power all satellite subsystems

(A) T gEEi W/ At all times

(B) W SIUTBT & SR/ Only during emergeneies

(C) ugvafiRl % §RM/ During eclipse periods

™ IR WP TRW %‘g’/ to give the solar arrays a rest

T eliteleh 31 & el — AT AqTd 4T £7
What is meant by the fan-out of a logic gate?
(A) I B U= S 1€ F SIS eqe B 5ile G ¢!
The number of other gates that can be connected to the gate's output.
(B) iR W 3Heye =] & oftg o1 wifos g
. The physical distance between the output pins on the device.
(€) SRS BT EEI S S & 3 ¥ A O P 9y WSl o 9l g
The number of other gates that can be connected to one of the gate's inputs.

(D) e GRT ufar siaed & umr

The amount of cooling required by the gate

Sl §9¢ TR XA d@lec 8F T, Th OP-amp ¥ afesid: 3M3evge € =Rul
With zero volts on both inputs, an OP-amp ideally should have an output

(A) FPRIHF HYfd Seea S 9+ / equal to the positive supply voltage

(B) “BEUMTHE Sﬂﬁ qrecdl P YaTT / equal to the negative supply voltage

(C) =™ & gaA / equal to zero

(D) CMRR & 9/ equal to CMRR
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53. ISDN ¥ Fe#g HeheuaT gl
The fundamental concept in ISDN is the
(A) TGN EHT/ Analog signals
(B) sloly f9e Us / Digital bit pie
(C) - 8ffars Y9R/ Voice communication
(D) FYXR IR/ Computer communication

54. Tew arv Terdt 7 § @it NOR e &7 gfaedi § 2
Which of the figures given below represents a NOR. gate?

o D > J7 F

a. d.
(A) a
B) b
©€) ¢
D) d

55. T G AT AR e S HEars & 3eed 82
Which gate corresponds to the action of parallel switches?
(A) ORgate
{B) NOR gate
{C) NAND pate
(D)  AND gate

56. TWT 3 &YornrT 3T 39T F fav Fararary
An attenuator is used in TWT to
A fide “v'!?{ﬁ%l / Prevent saturation

(B) Terdr =5/ Help bunching
(C) f0de Gl / Prevent oscillations
(D) STBIRATAST/ Increasing gain

57. NPN giforee & 39 o 3if@ae seleere vas S g1
Most of the electrons in the base of an NPN transistor flow:
(A) HAIRY P 3gT/ into the collector '

(B) SURRI® E®R/ out of the base lead
(C) U & #f@x/ into the emitter
(D) Y VEE & g/ into the base supply

58. T wfed vd GART & HAY wref fa@anr g
g & TBIUA % HRU BN B |

Sun appears red at sun rise and sunset. This is due to scattering of
(A) EIGRRICA: longer wavelengths
(B) TYTTEH / shorter wavelengths
© H]'qﬁ“‘l'q\f ! lower frequencies
@) it &ﬁ%"ﬁ / all frequencies
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59. TereToa srearers giaaat 7 ¥ fFg &T qeler Areas 7 3y T o g &
Which of the following semiconductor devices can be used in an enhanced mode?
(A) UIT
(B) NPN transistor
(C) JFET
(D) MOSFET

60. fr=rfariaa sonfert 3 @ wararr sl ar g
Which are the following systems is analog?
(A) PCM |
(B) DM
(Cy DPCM
(D) PAM
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Answer key

ISRO SATELLITE CENTRE
Answer key of the written test for selection to theost of
Technical Assistant (ELECTRONICS)held on 13/11/2016

(Advt. No. ISAC.02:2016 — Post No:TAO2

| Answer Key |
| SeriesA || SeriesB ||| SeriesC || SeriesD |

Question Correct Question Correct Question Correct Question Correct

No. Option No. Option No. Option No. Option

L o1 | o o1 || ¢ J| o1 | A || 01 |BorC
L 02 | c o2 | ¢ | 02 | c |l 02 | A |
| 03 JBorC| | 03 | ¢ || 03 | B || 03 | A |
| 04 | B || 04 [Borc| | 04 | c || 04 | D |
L 05 | A J|o | A || 05 | A || 0 | c |
L 06 | A ||l o6 | A || o6 | A || 06 | B |
L oz | o ||l o | b || o7 | o ||l 07 | c |
. 08 | ¢ || o | A || 08 | c || 08 | B |
L 09 | B |0 | b | o | o |l 0 | A |
. 10 | A J|_ 10 | B || 20 | B || 10 | c |
L 11 | c |11 | A | 11 | o |l 11 | c |
L 12 | 8 |12 | ¢ || 12 | c || 12 | B |
| 13 | A |18 | ¢ || 18 | o || 13 | A |
L 14 | c |14 | ¢ || 14 | B || 14 | c |
L 15 | A |15 | A || 15 | A || 15 | A |
| 16 | c ||l 16 | bp || 16 | c || 16 | D |
L 17 | c |17 | ¢ | 1w | A || 17 | A |
| 18 | ¢ |18 | B || 18 | ¢ || 18 | ¢ |
. 19 | 8 |19 | ¢ || 19 JBorC) | 19 | A |
. 20 | A || 2 | 8 || 2 | B || 2 | A |
L 21 | c |20 | B || 20 | A || 210 | B |
L2 | A |22 | ¢ || 2 | A || 2 | c |
. 28 | A |28 | A || 28 | c || 23 | B |
L 24 | B || 24 | B || 24 | A || 24 | A |
. 2 | 8 |2 | b || 2 | A |2 | A |
| 26 | A || 2 | B || 2 | B || 2 | A |
27 A | 27 | A [ 27 | A [ 27 | B |
L 28 | A [ 28 | A | [ 28 M | 28 | B |
L 29 | A |2 | A || 2 | A || 2 | A |
30 A 30 A 30 B 30 [
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Series A Series B Series C Series D

Question || Correct Question || Correct Question || Correct Question || Correct

No. Option No. Option No. Option No. Option
| 31 | B |3 | A || 3 | A [ 3 | c |
| 32 | 8 |3 | B || 32 | B || 3 | B |
| 33 | B |3 | B || 3 | B || 3| c |
| 34 |BorD| | 34 | A || 3 | c || 3 | c |
| 35 | c || 3 | B || 3 | B || 3 | D |
| 3% | B || 3 | c || 3 | B || 3 | B |
| 3 | c¢ || 3 | B || 3 |BorD| | 37 | B |
| 38 | B || 3 | c || 38 | c ||l 38 | B |
| 3 | ¢ |3 | B || 3 | B || 3 | B |
L 40 | A || 4 | c || 4 | B || 4 | A |

L 4 | o |4 | A || 4 | c || 4 |BorD
L 42 | A || 42 | o || 42 | A || 42 | D |
. 43 | B | |4 | A || 4 | A || 48 | B |
L 44 | 8 | |4 | B || 44 | B || 4 | A |
| 45 | A | |4 | B || 4 | A || 45 | B |
| 46 | B || 4 | A || 46 | B || 46 | c |
| 47 | c | |4 | 8 || 4 | o || 4 | c |
| 48 | o || 48 | c || 4 | A || 48 | D |
L 49 | c || 4 | b || 49 | c || 4 | B |
| 50 | o |5 | ¢ || 5 | c || 5 | c |
. 51 | B |51 | B || 51 | o || 51 | A |
| 52 | A |5 | A || 5 | c || 5 | c |
| 53 | b || 53 |BorD| | 53 | A || 5 | B |
| 54 | B || 5 | b || 5 | B || 5 | D |
| 55 | b || 5 | b || 5 | o || 5 | A |
| 56 | c ||.5 | ¢ || 5 | c || 5 | c |
[ 57 | c J [ 57 A [ 57 | c || 57 | A |
| 58 | A || 58 | A || 58 | B || 58 | B |
. 59 | B |5 | B || 5 | B || 5 | D |
| 60 | o || 60 | B || 60 | b || 60 | D |

Answer given in yellow color indicate the change in answer

X - Question cancelled
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